EAGRAROBREERT — 2 N— IBISH —F

2021548268 (B) 2EIKR5H

Sl C 2 H#E 45 %—M EEEE IR
[AE£)] 1% :270,000 "  27%&:95,000H”  33%&:54,000H”  43%&:27,000H . 57&:14,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
. AR .05, -6-5- . — RINRE (KR)
1189 h—kyR=—4% 7 a0 1(2_5)1 10-6-5-3 | 39.4 4 ::2) j(,%;ﬁ;‘%%?
L:7A7% B4 wMNn=— gilll IE%E
oLl S A Bl BB AR :25. -1-1- . — 12 ARBEI (KR
21718 |R7TVTTxA IR i (12215/2% AL e ° (43 R
R:YZRE—3I=X8— Biiv—I%yh— Hth HE
3 3| 2H/ JYsL > i o6 Suézlgﬁ“*iz 1:(2;).0 5-5-4-4 | 40.5| — 1 :?g) ;ﬁiﬁf (KR)
R:F1—-TTVI>7 B:x I8 % — AHE BX
o=in o= $5AKth : 00— — ZHEEZ (BE)
4 4| TEFCRSL it 4 e 1.72%1 3-2-2-2 | 40.9 2 (ﬁi) it
R:IET7RAT B:ALIYVa—L () HAEa-KL—Ya>AET7
S tr 5 | SREE 1:26.1 4-4-3-5 |40.7| — 6 430 | ERERIE— (EERE)
1 FAREZ 77 5.0 (74 b3 | WA
Z:E'ErFAyY B:FILI K- INT7—L
. SiAs .96, 2 6 . — 1REEFD (KR)
6l1]1|vv=>nsy— B 7 e 1(256)9 2-3-6-6 | 41.3 3 tg;) i o
2= RLVERIIL BV Y2 AN $EMES
— . BAKREKTE :07. -8-8- . - IRBE (KR
7155 H=—yzR~NYT R 4 8 *52.0b (11217/21> 8-8-8-7 |40.8 9 <4+735) :J:%%i( 7
:yQ7% BY=Z—-U5vv7 HAHHTT 7 — L4
R . LA :27. —-8-7- . - TEERZ (BER)
N s RS ULES 6| WA Lad 9-8-7-8 | 40.9 7 :_2;9) S=he
R:ZAFAT— K B:OAXRETIEZ IXET21-T7—L4
s _ .= . [EikivES :27. ~10-10- . — REILES] (B%ME)
olgliol ¥r1=—K5—F 4 6 R 1(32/74)3 7-10-10-10 | 40.2 8 (5_135) el
RixALI=ZTy7—R BRIV TxT7— i e ]
Y BARA :27. —7-9- . — 1EEHEZ (KR
) > PRRZA AT A I3 1(72L>3 AR 0 f;) e
L:2=—/xLLy b BiXxv=FUl— Ellte
® 1—F—@EBIERL
1T=7r= 8,1,4,7,3,2,10,5,6,9
23— — 8,4,1,7,3,9,2,(5,6) ,10
Ja=7= 8,4,7,3,9,1,6,5,2,10
43—+ — 8,4,9,3,7,1,5,6,2,10
[ N5
B 9 720M 714K 8-9 520M e E 7-8 960 JEE 3-8-9 2,290/
B B 9 240 3-9 420M B = 8-9 2,110 B 9-8-3 18,350M
8 230 3-8 430M B H 9-8 4,840M
3 150/

ARICOVWTRDTEEERROODE. TR LIV,




